Total Marks:12 Class:9th Time:15min

Subject:Chemistry(Objective)

Choose the best answer.Cutting overwriting and use of inkremover is not allowed

1

10

1

.

12

Which of'the following is a molecular mass of _Lgl./u:(uﬁamuu’u/goz ¢ufgj~36/) 1
0, in amu:

a.32amu b.1.92x 10 amu  a.32amu b.1.92x 10 " amu
¢.53.12x10 " amu  d.192.64x 10 amu c.53.12x 10 'amu  d.192.64x 10 amu
No. of moles in 29.25 gram salt is: Jrﬂﬁg{/f.ﬂ/u".ﬁ’ﬂ/ﬂ 5
a.0.25 b.0.21 a.0.25 b.0.21

b.0.5 d.0.75 b.0.5 d.0.75

WEich one is Radio Actize Isotope: "Lu:’r’!r(/,wufau”w 3
a. C b."C a.'C

c.'C d."c c.'C d."c

Modern periodic table consist of : _%yﬁ A0
a. Two blocks b. Three blocks a. /‘/u» b. /,:g//i}ggjf

c.Four blocks d. Five blocks e. /ufl}u{a d. /“g/uég

No. of elements in second period is: :La;l,v:" ‘fu&’!uﬁf;‘g;/» ’
a.32 b. 8 2.82 b.8

c. 18 d.2 c. 18 d.2

Ice Floats on water because: . }.’.( L& "/“&LJ

a. Ice is denser than water a. - A} o)&/c_,dgu/, C <

b. Ice is crystalline in nature b. -y );{J/ll"//:}/

c. Water is denser than Ice, C.-& u)L/c;bﬁ/dL

d. Water molecules moy@&gafidomly. d. ¢ d-/ =Sz W/L/ :ﬂ LLGL

After gaining one gleétfon, chlorine atom attains Jf K UH Sl S S e Sl KT

electronic configgtation of which noble gas? QLL"J/JILVJ u-@/"‘/"l

a. Helium b. Neon a. 1= b. il

c. Argon d. Krypton c. b ] d. e

The boiling point of Acetic Acid is: gLy B 8
2.118'C b. 128'C a.118'C b. 128'C

c.100°C d.180°C ¢.100°C d.180°C

Milk of magnesia is an example of: . _Lw_ﬁ l»pql 2
a. Solution b. True solution a. J;L” b. u’)ﬁ‘

c. Colloid d. Suspension s dyg*

The valency of iron in Fe,(SO,), is: —QU)&'!JU;TU:F%(SO)} 10
a. 1 b.2 a. 1 b.2

c.3 d.4 c.3 d.4

The concentered solution of common salt in et e SR ;/J/ d"dwvc’ (“
water is called: )

a. Brine b. Benzene a. Jlx b. Q:/'f

c. Alcohol d. Toluene G JO’U/’ d. o9

Melting point of sodium is!0 Py Ly iy 12
a.95C b.96 C a.95'C b.96"C*

¢.97C d.98'C ¢.97°C d. 98'C
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